How much altogether is

5p + 2p + 1p?

Tom spent 4p.

What was his change from 10p?

Ann spent 6p and 3p on toffees.
What change from 10p did she get?

Rosie had 15p.

She spent 6p.
How much does she have left?

Lollipops cost 5p each.

How much do 3 lollipops cost?

Catherine paid 6p for chews with no change.
What coins could she use?



Apples are 6p each.

How much do two apples cost?
Which two coins would pay for them exactly?

Describe different ways of paying 7p exactly?
And 13p?

Which three coins make: 14p, 15p, 16p, 17p?
Can you make 18p using three coins?



